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6. Gyakorlat
Diszkrét és folytonos valószínűségi változók transzformáltja

Végeredmények

1. a) P(Y = 1) = 5
9, P(Y = −1) = 4

9 b) 1
9 c) 1

9

2. E(Y ) = 9
8, E(Z) = 23

8
3. a) 0,1991 b) 9

4. 1
2p2

5. FY (y) =



0 y ≤ 0
1
6 0 < y ≤ 1
3
6 1 < y ≤ 2
5
6 2 < y ≤ 3
1 y > 3

E(Y ) = 1,5

6. a) FX(x) =


0 x ≤ 0
√

x 0 < x ≤ 1
1 x > 1

b) FY (y) =


0 y ≤ 0
3
√

y 0 < y ≤ 1
1 y > 1

c) fY (y) =


0 y ≤ 0

1
3y

2
3

0 < y ≤ 1

1 y > 1

d) 1
4 e) 1

4

7. a) FY (x) =
{

0 x ≤ 0
FX(x) 0 < x

b) FZ(x) = 1− FX(−x + 0)

c) FV (x) =
{

0 x ≤ 0
FX(x)− FX(−x + 0) 0 < x

d) FW (x) =
{

1− FX(−x + 0) x ≤ 0
1 0 < x

8. fY (x) =


λ

2
√
x
e−λ
√
x 0 < x

0 egyébként
E(Y ) = 2

λ2

9. fY (x) =
{

x 0 < x <
√

2
0 egyébként

, fV (x) =
{

e−x 0 < x

0 egyébként
, fZ(x) =


1

cos2(x) 0 < x < π
4

0 egyébként

10. x 7→ 100b
ax2 fX

(
100b
ax

)


